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e+e- -> 1 h Status

h->WW* fully hadronic channel
*cut based analysis only e

h->WW?* Semi-leptonic

Cut based analysis

Here!

* I'm considering the parameters

Merge the result of each channels | thatlshould apply



5/1

e+e- -> 1 h Status

npfosl >1 && npfos?Z >1

npfoscl >1 && npfoscZ >1
abs(mwl1rec-80.4)<10 || abs(mwZ2rec-80.4)<9.4
bmax1<0.77

pre-cut
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Preliminary Result <)

Cut efficiencies and optimal cut value ' ’ b
Signal efficiency = == Signal purity
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Future Work P
o

- Check dominant background

- Merge the result of each channels



